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V . Vo, Vo, Lo data
V. =(Mo+ Lo)l2
Vioe=V /0,95

Vo, V , Vo, Lo

uy=(A — 550) / 50
logV1o=-0,35(-u-. ]2
logL o =-0,35U)~Us7d?

- |OgV0:—0,35[J)\‘U557]2

“2 1570 Adaptation: A, =557,
maximum
log(V - m)=-0.02
V=095
Threshold
t:=0,00
V4=0,04

o uy=(A - 550) / 50

ot o2 log!Vlo ==0,35[ -+
Lio=L /0,81 log 0=-0,35y-u ]2
Lio, L, Mo, o Adaptation: Ay, =570

maximum

log(L - m)=-0,08
L m=0,81
Threshold
tz=0,00

ST W
700 A/nm

uy=(\ — 550) / 50
log o=-0,35-u ]2
log “0=-0,35[up—u. - ]?
l0gL o =—0,35[y~Us7q2
Adapt.: A =
maximum
log("~ m)=-0,3]
m=0,44
Threshold
t2=0,00

P}
600 700 A/nm

1o data uy=(\ — 550) / 50
=(1lo* Go)l2 log =-0,35ln-u ]2
o=.1044 log0=-0,35[y~u-]?

Adaptation: A =

maximum

m)=

Threshold
ta=0,00

F Ux
600 700 A/nm

EE440-7A
EE440-7N

uy=(A — 550) / 50
log©o=-0,35uy-u 12
logLo=-0,35[\—Us7q?

Adaptation: A =545

LO maximum

ta=0,00

3 Uy

700 A/nm

u=( - 550) / 50
log 0=-0,35[u)-u 1?
logo=-0,35[u)-u. ]2
log o=-0,35uy-u ]2

maximum

log("~ m)=—0,78
m=0,16

Threshold

tg=0,00

3 Uy

700 A/nm

u=(A — 550) / 50
log  =-0,35[\-u ]?
log©o=-0,35uy-u: ]
logLo=-0,35k~Us7d?

570 Adaptation: A =

Lo o maximum
log(“ - m)=-0,3]
m=0,44
Threshold
tg=0,00

3 uy)

EE440-6A
, Clo data
=( ot Lo)/2
o= /0,44
los s 20, G, Lo

700 A/nm

uy=(A - 550) / 50
log ©=-0,35[\-u ]?
logLo =—0,35uy~Us7q 2

Adaptation: A =
570

1,0

Lo maximum
m)=-0,3
m=0,44
Threshold
tz=0,00

3 uy)

700 A/nm

V ., Vo, Vo Lo data
V. =(Mo+ Lo)l2

Vie=V . /0,98
Vo, V., Vo, Lo

u=( - 550) / 50
logVo=-0,35[u)-u e
logLo=-0,35[i,~Us7q°
10gVo=-0,35[i\~Uss7]?

55 570 Adaptation: A, =557

fe,

[ maximum
log(V - m)=-0,02
V m=0,98
Threshold
tz=0,03
V¢=0,01

S Uy

700 A/nm

uy=(A — 550) / 5(
logVo=-0,35[u)-u e
log 0=-0,35y-u ]2

Adaptation: A, =570

maximum

log(L -m)=-0,07
L m=0,84
Threshold
tg=0,03

ux

700 Anm

uy=(A - 550) / 50
log  =-0,35)—u ]
log©o=-0,35uy-u- ]
logLo=~0,35u\~Us7d
Adapt.: A =

maximum

log("~ m)=-0,3
m=0,46

Threshold

tz=0,03

S ()N

|0 data
=( o+ C0)/2
lo=:./0,46

600 700 A/nm

uy=(\ - 550) / 50
log 0=-0,35u\-u ]?
log©o=-0,35uy-u- ]

Adaptation: A =

maximum
m)=-0.3
m=0,46
Threshold
tz=0,03

S u)

EE441-7N

TUB-test chart EE44; Relative elementary colour vision

600 700 A/nm

Sensitivities logLMS-R17_M$and combinations; thresholg=D,00 (left) and 0,03 (right)
Y

, Vo, Co, Lo data
=(“o*Lo)/2
o=\ 10,84
O LO

uy=(A — 550) / 5
log©o=-0,35[uy-u 12
logLo=—0,35[y~Us7q?

Adaptation: A =545
570
/ \\L,

maximum

ta=0,03

2 Ux
700 A/nm

u,=(A — 550) / 50
0=-0,35-u ]2
0=-0,35[)-u- ]2
0=-0,35[,-u ]2
Adapt.: A =52(
maximum
log("~ m)=-0,71
m=0,19
Threshold
0,03

2 Ux
700 A/nm

u=(A — 550) / 50
log 0=-0,35[5-u ]?
log o =-0,35[uy-u 12
logLo=-0,35}-Us7d?

570 Adaptation: A =

[ ) maximum
log("~ m)=-0,3
m=0,46
Threshold
tg=0,03

2 Ux
700 A/nm

EE441-6A
1o data uy=(\ - 550) / 50
=( o+ Lo)2 log 6=-0,35[5-u ]2
o= 10,46 logL o =-0,35)—Us7d?
lo: GF» o Lo Adaptation: A =

1,0

maximum

Threshold
t5=0,03

i Y
700 A/nm
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